Note: (1) Control Agent initial here: if low bid is acceptable. (2) Attach memo stating why low bid is not acceptable (3) Return your recommendation to Purchasing

Purchasing Agent: DEMETR	IOUS GIOVAS, DIRECTOR OF SNP	Box No.:	Phone Number: 575-882-6771
Bid Number: 15-16-09	Advertising Date: APRIL 30, 2016	Opening Date: MAY 24, 2016	Time: 2:00 p.m.
Description: REFRIGERATE	ED AND FROZEN FOODS		Results Sent:
Purchasing Agent:		Witness:	

GISD BID #15-16-09 REFRIGERATED & FROZEN FOODS PAGE 1

			DEE'S		LABATT		SHAMROO	CK						
ltem	Description	Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	BACON-PRECOOKED BACON	10	NB	#VALUE!	NB	#VALUE!	37.92	379.20		0.00		0.00		0.00
2	BAGEL: LENDERS BLUEBERRY SLICED	60	13.39	803.40	26.02	1,561.20	16.98	1,018.80		0.00		0.00		0.00
3	BAGEL: LENDERS CINNAMON SLICED	60	13.39	803.40	22.48	1,348.80	17.76	1,065.60		0.00		0.00		0.00
4	BAGEL: LENDERS PLAIN SLICED	60	22.52	1,351.20	16.64	998.40	16.18	970.80		0.00		0.00		0.00
5	BECON STREET CAFÉ 51% WG FLAT	1000	35.37	35,370.00	NB	#VALUE!	47.05	47,050.00		0.00		0.00		0.00
6	BECON STREET CAFÉ WG SAUSAGE	1000	35.37	35,370.00	33.59	33,590.00	34.09	34,090.00		0.00		0.00		0.00
7	BEEF-GROUND BEEF	200	NB	#VALUE!	2.22	444.00	1.97	394.00		0.00		0.00		0.00
8	BEEF BREADED STIX	2500	24.33	60,825.00	23.80	59,500.00	23.98	59,950.00		0.00		0.00		0.00
9	BEEF MEAT BALLS	1687	26.55	44,789.85	105.14	177,371.18	25.81	43,541.47		0.00		0.00		0.00
10	BEEF SAUSAGE SANDWICH WHOLE	1000	49.98	49,980.00	56.50	56,500.00	51.57	51,570.00		0.00		0.00		0.00
11	BEEF STEAK PATTY-FULLY COOKED	1000	64.65	64,650.00	65.52	65,520.00	70.96	70,960.00		0.00		0.00		0.00
12	BREAKFAST ON A STICK-PANCAKE	1500	20.78	31,170.00	20.80	31,200.00	22.71	34,065.00		0.00		0.00		0.00
13	BREAKFAST-BURRITO	900	65.68	59,112.00	61.43	55,287.00	65.15	58,635.00		0.00		0.00		0.00
14	BROCCOLI AND CAULIFLOWER	50	NB	#VALUE!	17.24	862.00	NB	#VALUE!		0.00		0.00		0.00
15	BROCOLI FLORETTES FROZEN	170	19.60	3,332.00	19.20	3,264.00	NB	#VALUE!		0.00		0.00		0.00
16	BUTTERMILK BISCUIT (PREBAKED)	1000	25.88	25,880.00	26.15	26,150.00	25.23	25,230.00		0.00		0.00		0.00
TOTAL	. PRICE													
TERMS	6													
DELIVE	ERY													
FOB														
IN-STA	TE PREFERENCE NUMBER													

PLEASE SEE LABATT'S ALTERNATE PRODUCT LIST

PLEASE SEE SHAMROCK'S LETTER REGARDING PRICING AND OTHER IMPORTANT INFORMATION

			DEE'S		LAB	LABATT		SHAMROCK						
tem	Description	Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
17	CARROT SLICES FROZEN	1000	\$11.56	\$11,560.00	\$16.26	\$16,260.00	\$20.80	\$20,800.00		\$0.00		\$0.00		\$0.0
18	CHEESE-LOW FAT	500	\$79.27	\$39,635.00	\$61.67	\$30,835.00	\$74.86	\$37,430.00		\$0.00		\$0.00		\$0.0
19	CHEESE-FILLED BREAD STICKS	1000	\$62.95	\$62,950.00	\$48.33	\$48,330.00	\$60.91	\$60,910.00		\$0.00		\$0.00		\$0.0
20	CHEESE-STRING CHEESE STICKS	500	\$38.92	\$19,460.00	\$38.93	\$19,465.00	\$40.14	\$20,070.00		\$0.00		\$0.00		\$0.0
21	CHICKEN-DICED	300	29.76	\$8,928.00	30.85	9,255.00	37.80	11,340.00		0.00		\$0.00		\$0.0
22	CHICKEN-WHOLE GRAIN BREADED	1000	18.99	\$18,990.00	19.88	19,880.00	79.55	79,550.00		0.00		\$0.00		\$0.0
23	CHICKEN AND BISCUIT SANDWICH	1000	48.06	\$48,060.00	46.56	46,560.00	46.52	46,520.00		0.00		\$0.00		\$0.0
24	CHICKEN BREAST NUGGETS	2000	17.25	\$34,500.00	18.19	36,380.00	79.53	159,060.00		0.00		\$0.00		\$0.0
25	CHICKEN BREAST UNBREADED	500	26.13	\$13,065.00	93.95	46,975.00	NB	#VALUE!		0.00		\$0.00		\$0.0
26	CHICKEN CHEESE QUESADILLAS	225	75.44	\$16,974.00	57.44	12,924.00	72.99	16,422.75		0.00		\$0.00		\$0.0
27	CHICKEN CHEESE FLATBREAD	500	NB	#VALUE!	NB	#VALUE!	NB	#VALUE!		0.00		\$0.00		\$0.0
28	CINNAMON GLAZED FRENCH TOAST	1000	46.76	\$46,760.00	48.09	48,090.00	61.40	61,400.00		0.00		\$0.00		\$0.0
29	CORN-WHOLE	1000	13.11	\$13,110.00	14.60	14,600.00	NB	#VALUE!		0.00		\$0.00		\$0.0
30	CORNDOGS	1800	31.00	\$55,800.00	29.25	52,650,00	29.41	52,938.00		0.00		\$0.00		\$0.0
31	CREAM CHEESE	5	NB	#VALUE!	17.50	87.50	18.99	94.95		0.00		\$0.00		\$0.0
32		5	NB	#VALUE!	15.64	78.20	19.87	99.35		0.00		\$0.00		\$0.0
33	CRISPITOS	1500	31.72	\$47,580.00	30.24	45,360.00	27.24	40,860.00		0.00		\$0.00		\$0.0
34	CROISSANTS	1000	17.78	\$17,780.00	17.39	17,390.00	42.14	42,140.00	1	0.00		\$0.00		\$0.0
35	EGG-BREAKFAST EGG AND CHEESE	500	43.35	\$21,675.00	43.22	21,610.00	51.76	25,880.00		0.00		\$0.00		\$0.0
36	EGG-COLBY CHEESE OMELET BULK	1000	80.03	\$80,030.00	78.85	78,850.00	55.16	55,160.00		0.00		\$0.00		\$0.0
37	EGG-HARD BOILED EGG	10	NB	#VALUE!	38.62	386.20	30.7	307.00		0.00		\$0.00		\$0.0
38	EGG-SQUARE EGG PATTY BULK	200	54.25	\$10,850.00	54.17	10,834.00	52.74	10,548.00		0.00		\$0.00		\$0.0
39	EGG-TAC-GO W/EGG, CHEESE, AND TUR	1200	57.75	\$69,300.00	58.58	70,296.00	56.14	67,368.00		0.00		\$0.00		\$0.0
40	FLAT BREAD	900	20.28	\$18,252.00	25.05	22,545.00	NB	#VALUE!		0.00		\$0.00		\$0.0
41	FRENCH BREAD CHEESE PIZZA	360	50.61	\$18,219.60	48.99	17,636.40	49.19	17,708.40		0.00		\$0.00		\$0.0
42	GOLD FISH HONEY WHOLE WHEAT BRE	1000	29.91	\$29,910.00	29.24	29,240.00	29.11	29,110.00		0.00		\$0.00		\$0.0
43	GREEK YOGURT ASSORTED FLAVORS	2500	5.88	\$14,700.00	NB	#VALUE!	12.25	30,625.00		0.00		\$0.00		\$0.0
44	GREEN BEANS FROZEN	1000	14	\$14,000.00	16.92	16,920.00	NB	#VALUE!		0.00		\$0.00		\$0.0
45	HAM SLICED	600	NB	#VALUE!	49.2	29,520.00	36	21,600.00		0.00		\$0.00		\$0.0
46		600	NB	#VALUE!	27.85	16,710.00	NB	#VALUE!		0.00		\$0.00		\$0.0
47	HOTDOG, TURKEY/CHICKEN, FROZEN	600	NB	#VALUE!	15	9,000.00	12.8	7,680.00		0.00		\$0.00		\$0.0
		562	33.01	\$18,551,62	34.95	19.641.90	NB	#VALUE!		0.00		\$0.00	1	\$0.0

Т

PLEASE SEE LABATT'S ALTERNATE PRODUCT LIST

Г

			DEE'S		LABATT		SHAMROCK							
tem	Description	Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
49	INDIVIDUALLY WRAPPED MINI BAGE	1125	NB	#VALUE!	\$32.65	\$36,731.25	\$31.54	\$35,482.50		\$0.00		\$0.00		\$0.0
50	INDIV. WRAPPED, DOUGHNUT	1012	\$22.00	\$22,264.00	\$25.74	\$26,048.88	NB	#VALUE!		\$0.00		\$0.00		\$0.0
51	INDIV.WRAPPED, SWEET ROLL	1125	\$22.39	\$25,188.75	\$27.96	\$31,455.00	NB	#VALUE!		\$0.00		\$0.00		\$0.0
52	JUICE-FRUIT-GRAPE	200	NB	#VALUE!	\$15.60	\$3,120.00	\$14.63	\$2,926.00		\$0.00		\$0.00		\$0.0
53	JUICE-FRUIT-ORANGE	200	NB	#VALUE!	15.56	\$3,112.00	14.63	\$2,926.00		\$0.00		\$0.00		\$0.0
54	JUICE-FRUIT-PINEAPPLE	200	NB	#VALUE!	16.32	\$3,264.00	NB	#VALUE!		\$0.00		\$0.00		\$0.0
55	LOWFAT CHOCOLATE YOGURT MIX	1	NB	#VALUE!	90.46	\$90.46	NB	#VALUE!		\$0.00		\$0.00		\$0.0
56	LOWFAT VANILLA YOGURT MIX	1	NB	#VALUE!	90.46	\$90.46	NB	#VALUE!		\$0.00		\$0.00		\$0.0
57	LUNCH CALZONE	300	NB	#VALUE!	45.76	\$13,728.00	NB	#VALUE!		\$0.00		\$0.00		\$0.0
58	MEXICAN STYLE PIZZA	300	NB	#VALUE!	48.92	\$14,676.00	NB	#VALUE!		\$0.00		\$0.00		\$0.0
59	MINI INDIVIDUAL BANANA LOAF	1125	18.38	\$20,677.50	18.49	\$20,801.25	18.81	\$21,161.25		\$0.00		\$0.00		\$0.0
60	MIXED VEGETABLES-FROZEN	1000	14.33	\$14,330.00	16.65	\$16,650.00	26.15	\$26,150.00		\$0.00		\$0.00		\$0.0
61	MUFFIN-ENGLISH, WHOLE WHEAT	200	22.52	\$4,504.00	24.42	\$4,884.00	20.75	\$4,150.00		\$0.00		\$0.00		\$0.0
62	MUFFINS-BREAKFAST	3000	16.74	\$50,220.00	18.87	\$56,610.00	16.88	\$50,640,00		\$0.00		\$0.00	,	\$0.0
63	PANCAKES-WHOLE GRAIN	600	16.03	\$9,618.00	16.38	\$9.828.00	15.80	\$9,480.00		\$0.00		\$0.00		\$0.0
64	PEAS AND CARROTS, FROZEN	50	13.80	\$690.00	16.49	\$824.50		#VALUE!		\$0.00		\$0.00		\$0.0
65	PIZZA-WEDGE SAUSAGE PIZZA	700	NB	#VALUE!	46.74	\$32,718.00	NB	#VALUE!		\$0.00		\$0.00		\$0.0
66	PIZZA-CHEESE STUFFED CRUST PIZZA	1500	62.12	\$93,180.00	42.08	\$63,120.00	NB	#VALUE!		\$0.00		\$0.00		\$0.0
67	PIZZA-ALPHA SUPREME 16" WHOLE	700	63.55	\$44,485.00	64.69	\$45,283.00	61.78	\$43,246.00		\$0.00		\$0.00		\$0.0
68	PIZZA-ALPHA SUPREME 16" THIN	700	65.96	\$46,172.00	65.68	\$45,976.00	64.11	\$44,877.00		\$0.00		\$0.00		\$0.0
69	PIZZA-ALPHA JALAPENO DOUGH	400	73.76	\$29,504.00	71.65	\$28,660.00	71.7	\$28,680.00		\$0.00		\$0.00		\$0.0
70	PIZZA-ALPHA JALAPENO DOUGH	300	73.76	\$22,128.00	71.55	\$21,465.00	71.65	\$21,495.00		\$0.00		\$0.00		\$0.0
71	PIZZA-CHEESE	600	63.55	\$38,130.00	64.45	\$38,670.00	65.77	\$39,462.00		\$0.00		\$0.00		\$0.0
72	PIZZA-VEGETABLE	600	71.1	\$42,660.00	71.78	\$43,068.00	NB	#VALUE!		\$0.00		\$0.00		\$0.0
73	POLLOCK WEDGES	500	27	\$13,500.00	26.7	\$13,350.00	NB	#VALUE!		\$0.00		\$0.00		\$0.0
74	PORK RIB PATTY	500	26.77	\$13,385.00	27.8	\$13,900.00	39.34	\$19,670.00		\$0.00		\$0.00		\$0.0
75	POTATO-CRINKLE CUT SWEET	1000	NB	#VALUE!	19.64	\$19,640.00	22.66	\$22,660.00		\$0.00		\$0.00		\$0.0
76	POTATO-SKIN ON FRIES	1000	NB	#VALUE!	18.73	\$18,730.00	35.81	\$35,810.00		\$0.00		\$0.00		\$0.0
77	PRE-COOKED SLICED SANDWICH	2700	162.22	\$437,994.00	150.6	\$406,620.00	159.87	\$431,649.00		\$0.00		\$0.00		\$0.0
78	SAUSAGE	1000	NB	#VALUE!	19.33	\$19,330.00	NB	#VALUE!		\$0.00		\$0.00		\$0.0
79	SEAFOOD FISH SHAPES	422	19.77	\$8,342.94	20.37	\$8,596.14	NB	#VALUE!		\$0.00		\$0.00		\$0.0
80	SLUGGERS-JUMBO BBQ SLUGGERS	1500	27.77	\$41.655.00	26.8	\$40,200,00	26.99	\$40,485.00		\$0.00		\$0.00		\$0.0

Т

PLEASE SEE LABATT'S ALTERNATE PRODUCT LIST

L			#1E 16 00 F					4						
		GISD BID	#15-16-09 F	E'S	-	OZEN FOC		ROCK						
ltom	Description	Qty	Unit Price	=	Unit Price		Unit Price		Unit Price	Total	Unit Price	Total	Unit Price	Total
	SOUP-BOSTON CLAM CHOWDER	Giy 5	NB	#VALUE!	\$37.64	\$188.20		#VALUE!	UnitFrice	\$0.00	Unit Frice	\$0.00	Unit Frice	\$0.00
-		5			10.00									
	SOUP-CHICKEN WITH EGG NOODLES	5	NB	#VALUE!	\$43.48	\$217.40		#VALUE!		\$0.00		\$0.00		\$0.00
	SOUP	5	NB	#VALUE!	\$45.48	\$227.40		#VALUE!		\$0.00		\$0.00		\$0.00
-	TURKEY-SLICED SMOKED	700	NB	#VALUE!	\$50.29	\$35,203.00	\$52.50	\$36,750.00		\$0.00		\$0.00		\$0.00
	VEGETABLES JULIENNE	1000	NB	#VALUE!	24.04	\$24,040.00		#VALUE!		\$0.00		\$0.00		\$0.00
	PANC	1000	28.35	\$28,350.00		\$28,600.00	27.56	\$27,560.00		\$0.00		\$0.00		\$0.00
87	WG CINNAMON FLAVORED MINI WAFF		27.54	\$27,540.00		\$27,740.00	26.77	\$26,770.00		\$0.00		\$0.00		\$0.00
88		1500	NB	#VALUE!	17.71	\$26,565.00	30.07	\$45,105.00		\$0.00		\$0.00		\$0.00
89	YEAST, SAF YEAST DRY-SHELF STABLE	30	61.35	\$1,840.50	51.97	\$1,559.10	60.71	\$1,821.30		\$0.00		\$0.00		\$0.00
90	YOGURT-STICKS	500	NB	#VALUE!	18.40	\$9,200.00	18.69	\$9,345.00		\$0.00		\$0.00		\$0.00
91	ZUCCHINI SQUASH	50	15.00	\$750.00	18.09	\$904.50	36.62	\$1,831.00		\$0.00		\$0.00		\$0.00
				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	PLEASE SEE LABATT'S			\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
	ALTERNATE PRODUCT LIST			\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
		ł		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
				\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00
				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
		-		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
		1		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
			1	\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00